ЈЕДНАЧИНЕ - вежбање
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Kako pewasan jeanatune
Y Kojwa je Henosara a
‘necroj crpasu?

I p—
7960-x=2692+4230

x=7960-6922

x=1038

[IE—
X+(25673 +31415) =88 912

X+57088=88912
x=88912-57088

x=31824

Pewnm jeqraunve
(35978 -x) +24 349 = 41063

35978-x=41063-24349

35978-x=16714
x=35978-16714

x=19264

8.

Pewnm jeqraunre:
(26531 +x) - 37797 =15622

6)(x-35199) - 43 652=31192
5)(82345 - x) - 2454 = 12847
133667 - (15612+x)=10101
57909 =67 385 - (13555 -
) 40 800 = 42 943 - (x - 71 200)

37659-3147
34512

Ma3auenu mecra neaoj u
~AecHo] CTpaKM W pewasaj kao

!
wTo cu 1o caa pewasao!

L pewnmnjearamie
a)524
6)7164=07154-x
©)84310=x+81349

2)32634+x=93643-17751
6)x-73516= 62889 - 47580
5)12733-6910=x-15342

r)48267+ 25647 =94361 - x

) (41573 -34792) +x=62007
6)(64523-7606) - x=12918

B)x - (32415 - 24 312)

=91531

112613 =x- (2567 +31543)

2) (x+34538) +12615=53 991
6) (- 12001) +38 501 =41 315
5)16314+(11011-x)=25934
1169300 = 27394 + (x- 2194)

1)53973= (65913 - +41 315





